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QUESTION 1

When creating links using drag-and-drop, which two keys can you hold down together as you release the mouse button
to bypass the pop-up menu? (Choose two.) 

A. Alt 

B. Ctrl 

C. Shift 

D. Insert 

Correct Answer: BC 

 

QUESTION 2

To which level in the typical database structure will users have the most access when using propagation? 

A. folder 

B. project 

C. module 

D. database 

Correct Answer: C 

 

QUESTION 3

What are two possible options when exporting DOORS data to HTML? (Choose two.) 

A. export current 

B. export all linked 

C. export all modules 

D. export part of a linked module 

Correct Answer: AB 

 

QUESTION 4

What is a valid reason to rewrite a requirement? 

A. The requirement is testable. 
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B. The requirement is ambiguous. 

C. The requirement is simply stated. 

D. The requirement is a complete sentence. 

Correct Answer: B 

 

 

QUESTION 5

Which statement is true about baseline set definitions? 

A. Module level baselines are inhibited by baseline sets. 

B. A module can only be listed in one baseline set definition. 

C. Modules must be listed in the baseline set definition before the set iscreated. 

D. When a baseline set definition is copied, all baseline sets created from it are copied as well. 

Correct Answer: C 
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